Function: statcheck()

statcheck ()

loop

extract stats() extract 1ltail() extract pvals()

parsed nhst

OneTailedTests

process stats ()

parsed nhst +
computed p &
errors

\ 4

calc _apa factor ()

Final
dataframe




Function: extract_stats()

extract stats()

v

extract pattern ()

loop

extract pattern ()

extract test stats|() extract p value ()

extract df ()

classification

test value
_|_

test comp

nhst parsed

remove p > 1

\ 4
return selected
stats

final
parsed nhst




Function: process_stats() nhst_parsed

process stats()

\ 4

compute p()

computed p

error test () decision error test ()

l1-tailed
in txt

decision_error

IF T~

Up for 1l-tailed
correction?

computed p ltail

error test() decision error test ()

decision error ltail

computed p decision_ error




Function: extract_test_stats()

extract test stat()

\ 4

extract pattern()

extract pattern()

remove test
comparison

v

remove 1000 sep ()

\ 4

recover minus_sign()

\ 4

remove spacing &

commas

determine # decimals




Function: extract_p_value()

IF

ns?

extract test stat()

v

extract pattern ()

ELSE

v

extract pattern ()

remove p comparison

\ 4

remove spacing &
commas

determine # decimals




Rounding of test statistic

Rounding of test statistic

allowed

not allowed

Reported t-value
*********** Rounding margins
Computed p-value
Upper bound
Lower bound

Inconsistency

t 0 1.95| 2.0 | 2.05
p 1.00( .50 | .25 |.061 | .055|.050|.025(.010 | 0.00
U C L Inconsistency when:
t(28) =2.0,p= reported > round(U) | reported < round (L)

t(28) = 2.0, p <

t(28) = 2.0, p >

reported < L

reported > U

£(28) < 2.0, p =

t(28) < 2.0, p <

t(28) < 2.0, p >

t(28)>2.0,p =

reported < round (U)

reported < U

£(28) > 2.0, p <

reported > round (L)

t(28) >2.0,p >

reported > L




When p == alpha is considered significant:

Computed p = .04 .05 .06
Reported t(..)=..,p= .04 DE
.05 DE
.06 DE DE
t(.)=.,p< .04 DE
.05 DE
.06
t(..)=..., p> .04
.05 DE DE
.06 DE DE
Computed p = .04 .05 .06
Reported t(..)<..,p= .04 DE DE
.05 DE DE
.06
t(..)<.,p< .04 DE DE
.05 DE DE
.06
t(..)< .., p> .04
.05
.06
Computed p = .04 .05 .06
Reported t(..)>..,p= .04
.05
.06 DE DE
t(...)> .., p< .04
.05
.06
t(...)> ..., p> .04
.05 DE DE
.06 DE DE

Decision Error when Error ==TRUE & ... :

(reported <= alpha & computed > alpha)
(reported > alpha & computed <= alpha)

reported <= alpha

reported >= alpha

reported <= alpha

reported <= alpha

computed > alpha

computed <= alpha

computed >= alpha

computed >= alpha

reported > alpha & computed <= alpha

reported >= alpha & computed <= alpha



When p == alpha is considered non-significant:

Computed p = .04 .05 .06
Reported t(..)=..,p= .04 DE DE
.05 DE
.06 DE
t(.)=.,p< .04 DE DE
.05 DE DE
.06
t(..)=..., p> .04
.05 DE
.06 DE
Computed p = .04 .05 .06
Reported t(..)<..,p= .04 DE DE
.05
.06
t(..)<.,p< .04 DE DE
.05 DE DE
.06
t(..)< .., p> .04
.05
.06
Computed p = .04 .05 .06
Reported t(..)>..,p= .04
.05 DE DE
.06 DE DE
t(...)> .., p< .04
.05
.06
t(...)> ..., p> .04
.05 DE DE
.06 DE DE

Decision Error when Error ==TRUE & ... :

(reported < alpha & computed >= alpha) |
(reported >= alpha & computed < alpha)

reported <= alpha & computed >= alpha

reported >= alpha & computed < alpha

reported < alpha & computed >= alpha

reported <= alpha & computed >= alpha

reported >= alpha & computed <= alpha

reported >= alpha & computed <= alpha
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